% H TH31E4R1BRE
A A
X 4 R B Bt itk
iR R R
Xih X 1956 4,242 14 2,088 14| 2154 0
= 3428| 7586 -17| 3759 | -15( 3827 -2
X R 551 1,361 -5 677 -1 684 -4
XX 515 1,340 0 647 -1 693 1
LAEHA 622 1,739 0 874 1 865 -1
&it 7,072| 16,268 -8| 8045 -2 8223 -6
XX XX
_ H ] & _ % ®
TR % R THX% T
ped R ped R =Pz R
BE 44 96 -1 44 -1 52 0 LTl 29 85 0 43 0 42 0
REA 596 1,297 -11 623 -7 674 -4 BF 152 369 -1 186 0 183 -1
K 17 28 -2 14 0 14 -2 XE 154 405 0 198 0 207 0
HEE 84 210 0 100 0 110 0 VA7 N 216 502 -4 250 -1 252 -3
PR 140 250 26 136 24 114 2 NG 551 1,361 -5 677 -1 684 -4
PIREE 836 1,748 4 857 -1 891 5
EER 65 176 0 84 0 92 0 HRCR#E
TEIR 22 69 0 35 0 34 0 it 3 S
T# 20 53 0 28 0 25 0 e e R iR iR
BT HHE 60 149 0 76 0 73 0 Feh 84 228 -1 114 -1 114 0
FEY 72 166 -2 91 -1 75 -1 = 69 183 -2 86 -1 97 -1
INET 1956 4,242 14| 2,088 14| 2154 0 e 113 290 2 145 0 145 2
ol 71 165 0 79 0 86 0
X HEE 67 188 0 88 0 100 0
e I &t 3 = hn#nETE 103 268 1 125 1 143 0
R b=p iR RELFHA 8 18 0 10 0 8 0
BT RH 11 28 0 14 0 14 0 NG 515 1,340 0 647 -1 693 1
N7 97 222 0 113 0 109 0
R 19 46 -1 19 0 27 -1 LAEZHABKE
hiE 72 163 0 77 0 86 0 o - &t 5 ES
Ei5 204 498 -3 225 -3 273 0 s EEH R 1R I
mis 214 437 -4 221 -4 216 0 L2EHE—TH 124 331 3 160 2 17 1
e 76 147 -1 73 -1 74 0 AEHE-TH 47 142 -1 77 -1 65 0
THIE 104 260 0 128 1 132 -1 LAEHE=TH 164 461 -3 232 0 229 -3
BIR 32 82 0 44 0 38 0 LXEHEMTH 148 423 2 212 0 211 2
=%F3 21 29 1 21 1 8 0 LAEHEATH 139 382 -1 193 0 189 -1
BHEO# 260 565 -6 278 -3 287 -3 NG 622 1,739 0 874 1 865 -1
a4y 841 1,741 -8 879 -7 862 -1
ILyaioy 927 1,932 6 958 0 974 6
I\E& 158 313 -4 149 -2 164 -2
AFE 13 35 0 19 0 16 0
bl 5 19 0 11 0 8 0
mEQDE1TH 134 389 -2 186 -2 203 0
mEQDE2TH 240 680 5 344 5 336 0
INET 3428| 7586 -17| 3759 | -15( 3827 -2




